
Á
Ê
Á
Ä
Ç
Ì
Á
ÚÊ
Ï
 
Å
Ð
Á
.Ë

Á
È
Ç
Í
Á

������������	
�
��

���	
����������	���	�
�������	��
�����	������������	����	��������	

�
�������
�

���
���������
���������
���������
���������
���������
�

���
��	�
�
	�
���
��	���
��	�
�

�	����
�
�
�
�������
���
�

�
�

�
���
�
������������
�
������������������ 
���!�" �#����
���$%&�
����'��� �(�"���)* +�'(�����) +��������,%��������(��� ������ ��(���" ����-� 
���'(���%����
./ ����� �0�+��(�� �
 1�����(�
2/ ��"���)* +��(��%���$%�
3/ �����"�+(�����
�(�
4/ ��"���)* +��(�"��1����+(�
�

�
� �



Á
Ê
Á
Ä
Ç
Ì
Á
ÚÊ
Ï
 
Å
Ð
Á
.Ë

Á
È
Ç
Í
Á

�������
�

���
�

��	
���
�	������ �����������������
��� ��� ���

����� �!�"#$"�$%� &� &� &�
�� &� &� ��
�� &� �� &�
�� &� �� ��
'� �� &� &�
(� �� &� ��
)� �� �� &�
*� �� �� ��
+� &� &� &�

�
�
�
���

9
9

1 1 0,5 102 10T sf
−

= = = ⋅
⋅ �

9 94 4 0,5 10 2 10t T s− −

= ⋅ = ⋅ ⋅ = ⋅ �
9

9
1 1 0,5 10 500.000.0002 10έ
t

εντολ ς
−

= = = ⋅ =
⋅

�
�
�

5 ���
�
�
�
�������
�
,��
�

�
�

500.000.000 � έ
s

εντολ ς ��



Á
Ê
Á
Ä
Ç
Ì
Á
ÚÊ
Ï
 
Å
Ð
Á
.Ë

Á
È
Ç
Í
Á

,��
�

-��.��� /� 0� ��
1�� � � &�
1�� &� &� &�
1�� �� &� ��
1�� &� �� &�
1�� �� &� ��
1�� �� &� ��

�
�
�����������
���������	

�����


